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10) Complete the table.
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11) The amount of rain in a rain gauge during a 12-hour period is
shown in the graph to the right. Write a general description of
what is happening during this time period.
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12) Find the numerical value of the slope of each segment.
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14) Write the equation of each line segment in point-slope form:
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15) State the x-intercept and its meaning. 6) State the y-intercept and its meaning.
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20) State and label the x-intercept. 21) StateCm label the y-intercept.
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The graph of the parent function f(x) is given. pi
2?2) State the domain and range for this function.
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Graph each of the transformations and state the new domain and range.
Describe the effect of the following transformations on the parent function.
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